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TARGET MATHS- 25/25

2
Ques 1- The total surface area of cylinder 1s 660 cm2. If the height of the cylinder i1s 14;%

more than radius of the cylinder, then find the radius of the cylinder.

ST Sl el IETI &Thel 660 ST HHT 81 Tl ST shl TS, sSio ohi Hsar @ 14—% 3t §, a9
EREEARESRINIGEEAISI

a) 7cm
b) 9cm
c) 10cm

d) 8cm
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EREEARESRINIGEEAISI

b) 9cm
c) 10cm

d) 8cm



TARGET MATHS- 25/25

Ques 2- If a number 32xy66 1s divisible by 99. Then find the lowest value of x + .
gl FEAT 32xy66, 99 W [T &, Tl x + y T =ATH A 14 shiTSY

b) 10
c) 2
d) 0
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TARGET MATHS- 25/25

Ques 3- The average age of 16 boys 1s 14. 1f a new one 1s included, then the average
becomes 15. What 1s the age of the new boy?

16 TS hT ST 1T 14 TN 81 AT Toh T TS hl IS FoRAT ST &, AT ST AT 15 9 &
ST 81 T TSk ol Y feha 2

a) 21
b) 31
c) 11
d) 32
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TARGET MATHS- 25/25

Ques 4- The difference between CI and SI for 3 years at the rate of 20% per annum 1is
Rs.160. What 1s the principal lent?

20% STl IS ohl G T 3 TN oh [oTC Tshalg, SATST I HTHRUT SATS o St ol 3aX 160 T 2
S QEERETEIRY,

a) 1200
b) 1190
) 1250
d) 1150
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Ques 4- The difference between CI and SI for 3 years at the rate of 20% per annum 1is
Rs.160. What 1s the principal lent?

20% ST % hT G H 3 TUT o [T skl SATST ST ATLRT ST o si1< T AL 160 T 2
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TARGET MATHS- 25/25

Ques 5- If the selling price of 25 articles 1s equal to the cost price of 40 articles, then what 1s
the approximate loss or profit percentage?

Q25 TEGAT T ToIshd T 40 TEGAT o 56T 7o o S ©, Al SAHTA BT AT AW THera shm
27

a) 30%
b) 40%
c) 50%
d) 60%
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Ques 5- If the selling price of 25 articles 1s equal to the cost price of 40 articles, then what 1s
the approximate loss or profit percentage?
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TARGET MATHS- 25/25

Ques 6- 1£¥12,800 is invested 1n a bank for 5 years at the rate of 9% per annum simple
interest. what amount is returned by the bank?

Ife 12,800 T9 k1 forel) sk 1§ 5 9t oF foTw 9% wfa o wrermor sty sht et @ faer foran Sman 2,
T sieh g Tohaet iRt (Frerer) amoe &t STt 82

a) 18,560
b) ¥18,650
c) %5,760

d) 19,694
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TARGET MATHS- 25/25

Ques 7- A sum become 0 of itself in 2 months at simple interest. Find the rate at which the

sum 1s 1mvested.

_ 61 . N
Tk ST YTLROT AT 9T 2 A § T3 <l 56|W|Idl%l g T A1d hifste fomr g wrfsr spr fasr
IERISIGIRS

a) 10% p.a.
b) 20% p.a.
c) 6% p.a.
d) 5%p.a.
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Ques 7- A sum become 0 of itself in 2 months at simple interest. Find the rate at which the

sum 1s 1mvested.

_ 61 . N
Tk ST YTLROT AT 9T 2 A § T3 <l 5'& SITdT 21 o8 < JTd shifste fore o qfst &1 g

IERISIGIRS

a)

b) 20% p.a.
c) 6% p.a.
d) 5%p.a.



TARGET MATHS- 25/25

Ques 8-The certain sum will amount to Rs 33640 1n 2 years at 16% per annum of
compound interest, interest being compounded annually. The sum 1s

ueh AT emaisT 16% ATNeh shafe ST <l ST H 2 aut § 33640 ¥ &1 ST, ST
STk &Y © =shal 4, 8| HeTeH T I

a) ¥ 35000
b) 25000
c) ¥ 30000
d) 20000
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Ques 9- Find the HCF of

2

3

3 62
> 11 ° 33

2

3)5

1

b)g

1

C)g
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d)—
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TARGET MATHS- 25/25

Ques 10-The two numbers are in the ratio of 3 : 7. If the L.C.M of two numbers 1s
147, then find the H.C.F of the two numbers.

31 AT 3 : 7 o TG | 7| ATQ a1 GEATHT hT ToaH SHIac 147 &, T a1
GEATAT T HETH HTISdHh JTd shifoTy)

a) 7

b) 21

c) 49

d) None of the above
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TARGET MATHS- 25/25

Ques 11-Suraj earned T 10280/- last month. This month his earning increased by
10%. How much amount did he earn this month?

Ut Wel FTS 10280 0 FHHTAT &, 39 HEH IHeh! HATE 10% o3 T3 2l 36 el 36
[EREIRUNIERI R,

a) 11208/-
b) 11308/-
c) 11309/-
d) 11409/-
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TARGET MATHS- 25/25

Ques 12-If the height of a cylinder is 11 cm and the curved surface area 1s 968
cm2, then the radius of the cylinder will be

1q Teh ST shl ST 11 THT TR 5k TEIT &hat 968 I G &, el St hl BIsaT
IETEIRIRIV

a) 10 cm
b) 11cm
c) l4cm
d) 8cm
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Ques 12-If the height of a cylinder is 11 cm and the curved surface area 1s 968
cm2, then the radius of the cylinder will be
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TARGET MATHS- 25/25

Ques 13-A sum was put at simple interest at a certain rate for 2 years. Had 1t been
put at 3% higher rate, 1t would have fetched Rs. 300 more. Find the sum.

Teh TIRT okl 2 Y o TQ Ueh T4fSra ot uw gramor sarsr i e fomar mar em afe 59
3% 3T1een ot UX Haf3Td foram ST, a1 38 300 9= 3T fHerd| a8 Tisr 3ma i)

a) Rs. 5,000
b) Rs. 4,000
c) Rs. 10,000
d) Rs. 1,000
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Ques 13-A sum was put at simple interest at a certain rate for 2 years. Had 1t been
put at 3% higher rate, 1t would have fetched Rs. 300 more. Find the sum.

Teh TIRT okl 2 Y o TQ Ueh T4fSra ot uw gramor sarsr i e fomar mar em afe 59
3% 3T1een ot UX Haf3Td foram ST, a1 38 300 9= 3T fHerd| a8 Tisr 3ma i)

a)
b) Rs. 4,000
c) Rs. 10,000

d) Rs. 1,000
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